G-150N GOMPAGT

18—YNo. & h £

1 10401 RT— 1 5,000 5,000

170406 RARTLERD (M4 x6) 2 120 240
3 10402 RAYFHIN— 1 1,500 1,500
4 10425 M4 x 2589yEV T ER 3 100 300
5 10417 M4 x 148yEVTEX 2 100 200
6 10405 IURAN— 1 600 600
7 10417 M4 x 14589EVTER 2 100 200
8 10208 RAYF 1 1,200 1,200
9 10414 a—FRiIEE 1 150 150
10 10417 M4 x 148yEVTEX 2 100 200
11 10412 3—K(5m) 1 3,000 3,000
12 10415 aO—KkoIg A 1 200 200
13 10210 avTFoY— 1 600 600
14 10408 h—RoRILE— 2 500 1,000
15 10409 h—RoITSL (27 wvk) 1yb 600 600
16 10410 RILE—FryT 2 200 400
17 10416 N7V G RY)—T 1 150 150
18 608VV R—ILARF1)> 5 (608VV) 1 500 500
19 10216 SH 1 4,000 4,000
20 3204 ATV T Ty v—(M4) 2 10 20
21 10419 M4 x 458yEVHTEX 2 100 200
22 10217 BT 1 6,000 6,000
23 608VV R—ILARTF1)> 5 (608VV) 1 500 500
24 10413 I7roI—K 1 250 250
25 12451 w2 A—TS5vk 1 1,500 1,500
26 110408 FREX (M4 x8) 1 80 80
27 130510 ME X (M5 x 10) 1 80 80
28 22509 ¢5MIT v vr— 1 300 300
29 690022 R—ILRF71)> 45 (690022) 1 600 600
30 12454 GANRINEE 1 2,000 2,000
31 R35 RFvFY 4 (R—35) 1 120 120
32 630022 R—ILRF71)> 45 (630022) 1 600 600
33 12455 EX. 7k 1 2,000 2,000
34 510310 FHX—(83x10) 1 120 120
35 12452 Ak 1 5,000 5,000
36 3105 EI Y r—(M5) 4 10 40
37 3205 AT T Ty v—(M5) 4 10 40
38 10434 M5 x 324vEVIER 4 100 400
39 3210 AT T Iy —(M10) 1 80 80
40 22125 POPP 1 1,000 1,000
41 12453 =KUYy 1 1,000 1,000
42 22961 N E 1 4,000 4,000
43 150415 rFSRAER (M4 x 15) 4 80 320
44 20867 BFEETL—F 1 120 120
45 22960 O7J—Awk 1 4,000 4,000
46 12456 NSUH— 1 1,200 1,200
47 130510 ME X (M5 x 10) 1 80 80
48 22970 AH—hk 1 2,000 2,000
49 22972 Zh—r)vF 1 300 300
50 22977A ¢ 123/%yKFASSY 1 2,500 2,500
51 3504 et MES (M4) 6 20 120
52 130406 MEX (M4 x6) 6 80 480
53 21025 H—ILT—/8—/AT(8) 10x150x30 1 2,100 2,100
54 A2005 LAV INTTZYR(BA) 30%x150x% 30 1 1,800 1,800
55 12457 2)oard A 1 100 100

(PEGMBREETHENHYFEY)



